Tanz der Ritter

Sergey Prokofiew

Horn (F) 1







e M,
pe g,

SYIVIPHONIC
M@B >

Tanz der Ritter

Horn (F) 1

Sergey Prokofiew

=100

76 | Allegro pesante

fpesa nte

78

77

14

> >

>
f marcato e pesante

& - h!-n__,

20

79

25

[ @)

80

33

#i

40

Andante

81

45

#

mp espress.

82

appena rit....................

1




Horn (F) 1
o poco rit...... 83 | Tempo I (Allegro pesante)
o) o I? 1 [ I ﬂ& 2 \ r 3 \ 73 N 73 N 3
PO—6- o . o= : % — £ 3 3 £
B i | | ! | ¢ ¢ e e
mp espress. dim p
71
— _ y— —
#g?#'  — —  —— > I — " —— " — . ——
H—=e €— € €— S E— s— e——€ S E— — &—r——
e) T T T T T T | T T T
S
77
L 4 = | > > o
' } > = o X ik >
’ 3 £ 7 7 | ¢ %
Q) T T N
5 3
84 85
Poco pia tranquillo 86 87 FL 1
T s 8 8 12 J—
7 A 5 ©
e, [C— eeeee—— ——
w
Q) L_J
88
= J_ J_ rit........... Allegro pesante (Tempo I)
A 4 ’\Jﬂ— I = B . d he bd be hi hl #‘b‘i
At L - X X ¥
{oy— Z— < < <
Q) L_J L_J L L_J - - — — — —
p
124
[4— - - - - —
e e e S S S S S StE SEEEeTes==tees
o) s s et s I I I I = 4 = 4
89
130
bt 2 : : : : I
G ¥ : : x = ——F | F  »
!) pr— — — e T T T T
S
136
h H | => | > =>
Y 1l \ = \ | — | \ — \
e 1 — —— —{ ———— —s—1% r —% I 73
U | | T T T T T




